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Isn’t there a \
way we can use a =
variable to solve
this problem?

Indeed!
Suppose we use
¢ fo represent the
number of capsules
in the first mug.
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The second
mug has 7 more
capsules than
the first.

Now, how could you
write an equation that
will help you find the
value of c?

So, if
there are c
capsules in the
first mug...

Brilliant!

..then
there are
c+7 capsules
in the second

There are
a total of 51
capsules in
both mugs.

If we subtract 7 from
both sides of the equation,
we get c+c=44.

erase the
parentheses,
since it’s all
addition.

If two C’s
add up fo 44,

THE ASSOCIATIVE PROPERTY OF ADDITION LETS then ¢ must be

US MOVE OR REMOVE PARENTHESES IN A SUM.

half of 44.
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Wait, what does

We used c to represent
the number of capsules
in the first mug...

..and c+7
fo represent

the number of
capsules in the
second mug.

Got it. ! / And since $

22+29=51,
our answer é
!

Since c=22, there ..and 22+7=29
are 22 capsules in  capsules in the
the first mug... second mug.

checks

There are
51 capsules
all together.

Wait!
Grogg, don’t
mix those!






